1. Find the difference of 2.45 — 0.5 = .
A 24
B. 1.95



You are right! Go to next.



You are wrong! Try again.



2. Subtract and choose the correct answer
132 —-057=___
- 075
B. 1.89



You are right! Go to next.



You are wrong! Try again.



3. Choose the correct answer for the problem below
23.76 —2.35=___
A. 26.11
B. 21.41



You are right! Go to next.



You are wrong! Try again.



4. Find the difference of 12.5 —6.92=__

A. 6.56
B. 5.58



You are right! Go to next.



You are wrong! Try again.



5. Choose the correct answer for the problem below
19.04-10.61=__
A. 843
B. 29.65



You are right!



You are wrong! Try again.



